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Isoquant is a curve representing the various combinations of
two inputs that produce the same amount of output.
Also called as equal product curve.

Slope of an isoquant indicates the rate at which factors K and L
can be substituted for each other while a constant level of
production is maintained.

ASSUMPTIONS ;

= There are two inputs: Labour L & Capital C to produce a

commodity X.

= LK &X are Perfectly divisible

Technology of product is given. Isoquant
curve
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Types of Isoquant

The shapes depends upon degree of substitutability of input:

Strict

complementarity's
between inputs.

If a quantity
of oneinput is
increased there will be

no change in output




image9.jpeg
5 0 15 0 X
Labor





image10.jpeg
@ Two ISOQUANTS can’t intersect each
other.

. ISOQUANTS doesn’t touch either axis.
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Law of Variable Proportion

It states that:

 If one factor is used more & more keeping the other factors constant.

» The total output will increase at an increasing rate in the beginning and then
diminishing rate and eventually decreases absolutely.

ASSUMPTIONS :
> Constant Technology
> Short run

> Homogeneous Factors

» Variable Input Ratio
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EAWS OF PRODUCTION

-Laws of Return to Scale
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Three Stages of Productio
STAGE 1:  INCREASING RETURNS

As the production of one factor in the combination of factor
is increased upto a point, the MP of the factor willincrease.

= Indivisibility of factors
=Quantity of fixed factor
= Division of labour

= Economies

STAGE 2:  DIMINISHING RETURNS

As the production of one factor in the combination of factor
is increased after a point the average & MP of that factor will
diminishing.

= Scarcity of fixed factors
= Indivisibilty of fixed factor
= Lack of perfect substitution of factor of production|
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> Itis a Long run analysis & all factors are variable.
> It seeks to analyse the effects of scale on the level of output.
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MP of variable factor is negative.

1S% . Excessive variable factor
= Inefficiency of fixed factor
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